## **BURDEN FOR ACF FEDERAL ASSISTANCE PROGRAMS**

	CFDA (93.X XXX)	Program Title	Number of Responses	Hours Per Response	Total Burden
1.	9	Compassion Capital Fund	2,167	40	86,680
2.	10	Community Based Abstinence Education Program	565	40	22,600
3.	86	Healthy Marriage Promotion and Responsible Fatherhood Grants	1,869	40	74,760
4.	87	Enhance The Safety Of Children Affected By Parental Methamphetamine Or Other Substance Abuse	22	40	880
5.	254	Infant Adoption Awareness Training	14	40	560
6.	550	Transitional Living for Homeless Youth Program	1	40	40
7.	551	Abandoned Infants	1	40	40
8.	556	Promoting Safe and Stable Families	48	40	1,920

	CFDA (93.X XXX)	Program Title	Number of Responses	Hours Per Response	Total Burden
9.	557	Education and Prevention to Reduce Sexual Abuse of Runaway, Homeless and Street Youth	181	40	7,240
10.	564	Child Support Enforcement Research	11	40	440
11.	566	Refugee and Entrant Assistance State Administered Programs	50	40	2,000
12.	567	Refugee and Entrant Assistance-Voluntary Agency Programs	80	40	3,200
13.	569	Community Services Block Grant	112	40	4,480
14.	570	Community Services Block Grant Discretionary Awards	219	40	8,760
15.	571	Community Services Block Grant Formula and Discretionary Awards Community Food and Nutrition Programs	180	40	7,200
16.	575	Child Care Development Block Grant	50	40	2,000
17.	576	Refugee and Entrant Assistance	280	40	11,200
18.	577	Early Learning Fund	70	40	2,800
19.	579	U.S. Repatriation	10	40	400
20.	581	Improving the Capability of Indian Tribal Governments to Regulate Environmental Quality	24	40	960
21.	582	Mitigation of Environmental Impacts to Indian Lands Due to Department of Defense Activities	4	40	160
22.	583	Wilson / Fish Program	583	40	23,320
23.	587	Promote the Survival and Continuing Vitality of Native American Languages	97	40	3,880

	CFDA (93.X XXX)	Program Title	Number of Responses	Hours Per Response	Total Burden
24.	592	Family Violence Prevention and Services/Grants for Battered Women's Shelters Discretionary Grants	358	40	14,320
25.	593	Job Opportunities for Low-Income Individuals	191	40	7,640
26.	595	Welfare Reform Research Evaluations & National Studies	19	40	760
27.	597	Grants to States for Access and Visitation Programs	54	40	2,160
28.	598	Services to Victims of a Severe Form of Trafficking	63	40	2,520
29.	600	Head Start	99	40	3,960
30.	601	Child Support Enforcement Demonstrations and Special Projects	44	40	1,760
31.	602	New Assets for Independence Demonstration Program	126	40	5,040
32.	604	Assistance to Torture Victims	56	40	2,240
33.	612	Native American Programs	289	40	11,560
34.	616	Mentoring Children of Prisoners	241	40	9,640
35.	618	Voting Access for Individuals with Disabilities Grants for Protection and Advocacy Systems	5	40	200
36.	623	Runaway and Homeless Youth	213	40	8,520
37.	631	Developmental Disabilities Projects of National Significance	120	40	4,800
38.	632	Developmental Disabilities University Affiliated Programs	9	40	360

	CFDA (93.X XXX)	Program Title	Number of Responses	Hours Per Response	
39.	647	Social Services Research and Demonstration	84	40	3,360
40.	648	Child Welfare Services Training Grants	90	40	3,600
41.	652	Adoption Opportunities	44	40	1,760
42.	670	Child Abuse and Neglect Discretionary Activities	80	40	3,200
43.	671	Family Violence Prevention and Services/Grants for Battered Women's Shelters Grants to States and Indian Tribes	325	40	13,000
44.	676	Unaccompanied Alien Children	15	40	600
		TOTAL	9,163		366,520